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1. The graph of h = -16t2 + 48t is shown below:
[image: ]
a. Sketch a graph of h = -16t2 + 48t + 6 on the above graph.  Then describe how the graphs are related to each other. 




b. Which equation better represents the height in feet of a thrown ball t seconds after it is thrown.  Explain your reasoning. 




c. Using the equations given, determine how much longer the ball is in the air for h = -16t2 + 48t + 6 rather than h = -16t2 + 48t  if it is not touched before hitting the ground. 

image1.png
g cp1_unitrm07.pdf - Adobe Reader =18 x|

Flo Edt Vew Window Help

x

HEebex

| @® @) [#] 16| = @) [0 [-]] | ® 2 | Tools | Sign | Comment

(L] | Bookmarks (o}

e E ®
[P core-Plus -
Mathematics
Mathematics in
[P contents
[P Resources
[P unit 1 Resource
[P unit 2 Resource
[P unit 3 Resource
[P unit 4 Resource
[P units Resource
[P unit & Resource
[P unit 7 Resource
[P units Resource
[P mnternet Link
[P crvp-Tools

[P previous Document
[P search
[P Page Navigator
[P exit
[P core-plus
Mathematics
Contemporary
Mathematics in
Context, Course 2
[P core-plus
Mathematics
Conternporar,

10

0 t
00 05 10 15 20 25 30 35 40 45 50

h = —16t* + 48t + 6 on the above graph. Then describ
h other.
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